The primary objective of business financial management is to


a.
maximize total corporate profit.


b.
maximize net income.


c.
minimize the chance of losses.


d.
maximize shareholder wealth (i.e. stock price).

 2.
Theoretically, stock price is not directly determined by


a.
the risk associated with expected cash flows.


b.
the net income or loss reported on the income statement.


c.
the size of expected cash flows.


d.
the timing of expected cash flows.

 3.
Consider a bond that has a $1000 face value, a 6.875% coupon rate, and pays interest semiannually.  The bond has ten years remaining until maturity.  The current price reflects an 8.125% annual return to investors.  Which of the following statements concerning this bond is true?


a.
The bond will sell at a discount.


b.
The bond will sell for exactly par value.


c.
The bond will sell at a premium.


d.
None of the above are true.

4.
Which of the following statements is NOT true?

a. If a firm is experiencing severe capital rationing, one may not be able to choose all positive NPV projects.

b. If a firm has plenty of capital for investment, the preferred decision criterion for ranking capital budgeting projects would be the NPV.

c. NPV and IRR will always give you the same accept or reject decision.

d. All of the above are true.

 5 .
Which of the following statements is true?




a.
If interest is compounded more than once a year, the nominal (stated) annual rate is greater than the effective annual rate.




b.
If interest is compounded once a year, the nominal (stated) annual rate and the effective annual rate are equal.




c.
If interest is compounded more than once a year, the effective annual rate is greater than the nominal (stated) annual rate.


d.
(b) and (c) are both correct.
6.     In using the percent-of-sales method of forecasting the Additional Funds Needed (AFN):


a.
As the dividend payout ratio increases, the amount of required new funds rises.


b.
As the dividend payout ratio increases, the amount of required new funds declines.


c.
The dividend payout ratio does not affect the amount of required new funds.


d.
None of the above is correct.

7.
You are looking at two different stocks.  Climber, Inc. has a beta of 1.25 and Steady As She Goes Co. has a beta of .95.  Which statement is true about these investments?


a.
The stock in Steady As She Goes Co. has a lower risk premium than Climber Inc.


b.
The required return on Steady will be the higher of the two.


c.
The required return on Climber will be the lower of the two.


d.
(b) and (c) are both correct.

8.
The NPV of a project


a.
Is positive if IRR=cost of capital.


b.
Measures the percentage increase in shareholder wealth if a project is accepted.


c.
Equals the net investment cash outflow when the discount rate is 0%.

d.
Measures the dollar change in shareholder wealth if a project is accepted.

9.
Which of the following statements is NOT true concerning diversification?


a.
The risk of the portfolio is will be reduced as securities are added.


b.
The risk being reduced is security-specific risk.


c.
If you hold more than 100 securities, then the portfolio is risk-free.


d.
As more and more securities are added to the portfolio, the level of risk approaches the level of systematic risk in the market.

10.   Capital market theory and history tell us:

I.   Financial investors tend to be risk averse.

II.  Ceteris paribus, the greater the risk associated with a financial asset, the greater is the return.

III. The NYSE stock exchange is an inefficient market because information about changes in the risk associated with stocks does not translate into changes in required rates of return.

a.  I only

b.  II only

c.  I and II only

d.  I and III only

